Appendix S1. Is physician notification acceptable?

Vignette 1
Yes =104 (95%)
No= 6 (5%)

Vignette 2
Yes = 105 (95%)
No= 5 (5%)

Vignette 3
Yes =83 (75%)
No =27 (25%)
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Appendix S2. Is patient notification acceptable?

Vignette 1 Yes No
Yes = 42 (38%) n=42 n =68
No = 68 (62%) (38%) (62%)

Vignette 2 Yes No Yes No
Yes = 44 (40%) n=33 n=9 n=11 n=57
No = 66 (60%) (30%) (8%) (10%) (52%)

Vignette 3 Yes No Yes No Yes No Yes No
Yes = 29 (26%) n=23 n=10 n=1 n=28 n=4 n=7 n=1 n=>56
No = 81 (74%) (21%) (9%) (1%) (7%) (4%) (6%) (1%) (51%)




Vignette 1

MD = 84 (76%)
Patient= 15 (14%)
Nothing =11 (10%)

Vignette 2

MD=  81(74%)
Patient = 22 (20%)
Nothing= 7 ( 6%)

Vignette 3

MD= 59 (54%)
Patient = 13 (12%)
Nothing = 38 (35%)

Appendix S3. Most appropriate approach
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